Week 3 Math 1508 Worksheet #1

Problem 1: Solve for x:

3 — 4y = 5x—1
X = 2y
Problem 2: Solve for x:
_ 7 —2x
Y= 7x + 1
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Problem 3: Let f(x) = and g(x) = —x2 — 3x + 4, find the following.

Va+3x

a.  f(=1)

b.  f(=2)

c. g(=2)

d  g(f(0)

e.  (feg)

Problem 4: Graph the following functions on the same graph
) =+x

. f(x) = v/x — 2; describe the shift

. f(x) = 2 —+/x: describe the shift

. f(x) = 2+/x ; describe the change from f(x) = Vx

. f(x) = 2 — 2+/x — 2; describe all changes from f(x) = vVx
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